	Reading World 3
	Midterm Exam
(Units 1- 5)
	Score:    / 100

	
	
	

	Student Name: 

	Class:

	Date:




Vocabulary:
Part A: Choose the word that best matches the definition (1 point each).

1. ________________: a person who lives in a country, town, or city

2. ________________: animals in an area

3. ________________: the place where small proportions of company ownership are traded

4. ________________: related to farming

5. ________________: to send or pass on

Word Bank (only 5 answers are correct):
	transmit
	agricultural
	fauna

	client
	mechanical
	seize

	stock market
	citizen
	zone



Part B: Choose the word that best completes the sentence (1 point each).
6. The chef is never ________ with measuring the ingredients, so the food tastes different every time. 
	a. revolutionary
b. precise
c. agricultural 
d. concentrated

7. It is __________ to wear a suit and tie to a job interview, but not shorts and sandals. 
	a. eastern
	b. appropriate
	c. unwelcoming
	d. charismatic

8. A vulture is a(n) __________. It eats animals that have already died. 
	a. scavenger
	b. amateur 
	c. beauty
	d. contestant

9. The band made its public _______ in 1979; however, it did not become famous until 1985.
	a. dialogue 
	b. comment
	c. debut
	d. option





10. The actor was one of the most ___________ faces in Hollywood. Everyone knew who he was. 
	a. recognizable
	b. appropriate
	c. unwelcoming
	d. specialized

11. The company is ___________ in selling computers to businesses. It does not sell to consumers. 
	a. appropriate
	b. charismatic
	c. infected 
	d. specialized

12. Bill bought some _________ flowers for his kitchen. He didn’t want to use real ones because they would die. 
	a. eastern
	b. artificial 
	c. appropriate
	d. rebellious

13. In the story, the town is __________ as a beautiful beach paradise with friendly people.
	a. described
	b. led to
	c. erected
	d. issued

14. Many people in India do not eat meat because they are _______________. 
	a. vegetarian
b. edible
c. agricultural
d. precise

15. During the class, the teacher __________ the importance of learning English.
	a. standardized
	b. represented 
	c. emphasized
	d. belonged 

16. Good _________ is very important in hospitals to stop the spread of disease. 
	a. diet
	b. hygiene 
	c. client 
	d. entertainment 

17. Most people __________ the beach with vacation and swimming.
	a. represent
	b. issue
	c. erect
	d. associate

18. For most of the students, the English test was very ___________; it was hard to do.
	a. wrongly
	b. concentrated 
	c. challenging 
	d. revolutionary 
	

19. The animal went underground to hide, but it ________ thirty minutes later.  
	a. exceeded
	b. emerged
	c. standardized 
	d. associated

20. Because my cousin lives in Los Angeles, I go there __________ to visit her. 
	a. frequently 
	b. relatively 
	c. exceptionally 
	d. curiously 

Part C: Choose the SYNONYM ( = ) or ANTONYM ( <-->) for each word (1 point each).
21. skilled worker = ___________

22. loyal <--> _____________

23. notification = ______________

24. professional <--> ______________

25. suitable = ______________

Word Bank (only 5 answers are correct):
	amateur
	technician
	alert 

	charismatic
	mechanical
	unwelcoming

	rebellious 
	zone
	appropriate




























Reading Comprehension & Skills:
Read the passage and answer the questions.
 (
Haast’s
 
e
agle was a very impressive bird. It was the largest eagle that has ever lived. It weighed between 9 and 15 kilograms and had a wingspan of about three meters. The total length of its body, including its long tail, could be as much as 1.4 meters. That’s about twice as big as an American bald eagle. 
New Zealand’s largest predator 
specialized 
in attacking and eating another New Zealand bird called the moa. The moa was a 
browsing 
bird, with a 
diet 
similar to other browsers such as deer and goats. Moa were very large, weighing up to 
230
 kilograms, and they couldn’t fly. When 
Haast’s
 
e
agle saw a moa, it would swoop down at 80 kilometers per hour, kill the moa 
with a blow to
 the head or neck, and 
seize 
it with its talons. Because there weren’t any other large predators or 
scavengers 
in New Zealand, the 
Haast’s
 
e
agle probably ate the dead moa over a number of days. 
Haast’s
 
e
agle must have been very powerful. Scientists say that it probably had enough power in its talons to 
snap 
a human’s neck, or to 
puncture 
a human skull. Because of this, it may have been a danger to 
M
ā
ori
 people, especially children. Scientists say that 
M
ā
ori
 people may have destroyed 
Haast’s
 
e
agle nests to protect themselves and their families.
Sadly, 
Haast’s
 
e
agle became extinct sometime around 1400 AD. 
M
ā
ori
-nest hunting parties probably 
contributed
 to the eagle’s decline, but the main reason 
Haast’s
 
e
agle became extinct was the 
disappearance 
of its prey. 
) 


















									
(taken from Haast’s Eagle)

Questions 26-29. Circle the correct answer (2.5 points each):
26. How does the size of Haast’s eagle compare to the American bald eagle? 
	a. It was twice as big.
	b. It was twice as heavy.
	c. It was twice as long. 
	d. It was twice as fast.
 
27. In line 17, what does “contributed” mean?
	a. helped catch
	b. helped save
	c. helped eat
	d. helped cause 

28. Why did the Haast’s eagle eat a dead moa over a number of days? 
a. Moas were too big to be eaten in one day.
b. There weren’t any large predators around.
c. The Haast’s eagle could not eat very much.
d. The Haast’s eagle shared its food with other animals.

29. Which is NOT mentioned about the power of Haast’s eagles?
a. Their talons could snap a human’s neck.
b. They could puncture a human skull.
c. They could kill a moa with a blow to the head.
d. They destroyed the Maori people’s nests.

Question 30. Short answer (5 points):
30. According to scientists, how did Maori people likely protect themselves from the Haast’s eagle? 
________________________________________________________________________
________________________________________________________________________.

Read the passage and answer the questions.
 (
In the 1950s, Hot Springs, New Mexico 
was
 a small, simple town known for its 
steamy, hot springs
. New Mexicans would go there when they wanted to relax in the water. Hot Springs was home to over forty natural hot springs which poured out over 99 liters of water every second. There were, and still are, several bath houses in the city. 
As in many cities at that time, the 
citizens 
of Hot Springs liked to listen to the radio. One program they especially enjoyed was called 
Truth or Consequences, 
hosted by Ralph Edwards. 
Truth or Consequences 
was a show in which 
contestants 
would try and answer a 
challenging 
trivia question. If they got the question wrong, they would have to perform a 
strange 
task
. Most
 contestants chose to answer the questions 
wrongly 
since the tasks were so fun! If they answered the question correctly or were able to complete the strange 
task
, the contestants were 
rewarded 
with a prize. Often, the prize would be something surprising, like 
being reunited
 with a long lost friend or family member. 
In 1950, Ralph Edwards announced that he would visit and perform his radio show from the first town in America to change its name to “Truth or Consequences.” 
Hot Springs jumped on the opportunity. True to his word, Ralph Edwards visited the town now known as Truth
 or Consequences, New Mexico and performed his show.
 He
 arrived in town on May 1
st
, and the town celebrated with a large 
fiesta
. Edwards enjoyed his visit so much that he continued to visit the town every May for nearly the rest of his life.
)


















(taken from Done for Fame)
Questions 31-34. Circle the correct answer (2.5 points each):
31. Which sentence about Truth or Consequences is NOT true?
	a. It is located in New Mexico. 
	b. Its name comes from a radio show.
	c. It used to be known as “Hot Springs.”
	d. The town hosts a radio show on May 1st every year. 

32. In line 8, what does “task” mean?
	a. a skill-testing quiz question
	b. a challenging assignment
	c. a funny joke
	d. an artistic dance

33. What did most contestants do on the show? 
a. They would answer the questions correctly.
b. They chose to answer the questions incorrectly.
c. They were rewarded with strange prizes. 
d. They reunited with a long lost friend.

34. Which is NOT true about Ralph Edward’s visits to Truth or Consequences?
a. He made his first visit on May 1st.
b. He enjoyed his visits so much.
c. He never returned to the town after his first visit.
d. He visited the town every May for nearly the rest of his life.

Question 35. Complete the chart (5 points):
35. 
	Truth or Consequences

	Why did most contestants choose to answer the questions wrongly?
	

	What kind of prize did the contestants get?
	




Read the passage and answer the questions.
 (
As populations 
soar and land scarcity deepens, more people move from traditional homes to high-rise buildings. So why not apply the same principle to farming? Vertical farming allows us to grow crops on a series of levels, one on top of the other, all in a very concentrated space. Think of it as an “apartment” for food crops. Best of all, no soil or direct sunlight is required! Vertical crops can either be grow
n in tubs of nutrient-enriched
 water or they can be sprayed at the roots. Artificial lights can be used in place of the sun.  
Another major issue that food technology can solve is food waste. In the US, 40% of food is thrown away uneaten each year. All that food could be used to feed the hungry. Thankfully, social media and various apps can help reduce food waste. 
Leloca
 is a popular app that helps restaurants save food and customers save money. Instead of throwing out food, restaurants can put it on sale for 30 to 50% off through the app. Customers will then receive an alert for the sale. 222 Million Tons is another app that suggests grocery lists based on the user’s household size and meal preferences, discouraging them from overbuying. 
Food technology is quickly changing how we grow food to how we handle food waste. Hopefully with the growth of food technology innovations, we will be able to efficiently feed more people and create a more sustainable world.
)



















(taken from Feeding the World)
					
Questions 36-39. Circle the correct answer (2.5 points each):
36. Which feature about vertical farming is true?
	a. It allows farmers to grow crops in rows right next to each other.
	b. No soil or direct sunlight is required.
	c. Crops can be grown in tubs of artificially-enriched water.
	d. The water cannot be sprayed at the roots.

37. What is not mentioned about food waste?
	a. In the US, 40% of food is thrown away uneaten each year.
	b. Food technology can solve the issue of food waste.
	c. Social media and various apps can help reduce food waste.
	d. Restaurants donate food waste to the hungry.

38. What does the Leloca app discourage restaurants from doing?
	a. It discourages them from throwing out food.
	b. It discourages them from putting food on sale.
	c. It discourages them from making too much food.
	d. It discourages them from delivering food to people. 

39. What appears to be the overall goal of food technology innovations?
a. to move farming to high-rise buildings
b. to save restaurants money and feed the hungry
c. to efficiently feed more people and create sustainability 
d. to make apps work more efficiently 

Question 40. Complete the chart (5 points):
40. 
	Feeding the World

	What can vertical farming be thought of as?
	Vertical farming can be thought of as an ___________ for _______________.

	What does the Leloca app help restaurants do with the food that needs to be thrown out? 
	It allows restaurants to put food on ________ for ____ to ____% off through the app. 



Read the passage and answer the questions.
 (
In the years after his professional debut, Arnold experienced a level of fame – and earned an amount of money – that far 
exceeded 
that of previous pro golfers. In fact, he developed a following so large it was named 
Arnie’s
 Army. It was remarkable. Arnold Palmer just seemed to be “in the right place at the right time,” and he became the world’s first superstar sportsperson. 
Arnold didn’t do it all himself. In the late 1950s and early 1960s, sports television – and sports marketing – was just beginning to take off. More and more people began watching sports on television, and many businesspeople saw this 
phenomenon 
as a money-making opportunity. One such businesspe
rson
 was Mark McCormack. Mr. McCormack was starting a sports marketing company and Arnold became his first 
client
. McCormack recognized that Arnold was not only an amazing golfer, but also good-looking, 
charismatic
, and camera-friendly. He saw Arnold as the perfect face for the TV marketing of golf.  
Arnold added millions of viewers to TV ratings. He became the most 
recognizable 
face in golf, and he later used his fame to open golf courses, clubhouses, a restaurant, and even a car dealership. McCormack didn’t do too badly either. His sports marketing firm became the largest and most important in the business. Together, McCormack and Palmer showed the world you could use TV to make golf players – or anyone else
 
– world famous. It was a lesson to other sports marketers around the world. Arnold Palmer may have been the first sports-marketing superstar, but he was definitely not the last.
)





















(taken from Arnold Palmer: The King of Golf)
						      
Questions 41-44. Circle the correct answer (2.5 points each):
41. Which of the following was NOT a reason why McCormack thought Palmer was perfect for TV? 
a. Arnold was an amazing golfer.
b. Arnold was good at acting. 
c. Arnold was charismatic.
d. Arnold was good-looking.

42. What did McCormack and Palmer show to the world?
a. You could use TV to make anyone world famous.
b. You could use TV to teach golf lessons.
c. You could open golf courses anywhere. 
d. You could become a pro golfer without practicing much.  

43. What is one thing Palmer used his fame for?
a. to open clubhouses
b. to open tennis courts
c. to open a golf academy
d. to make his own talk show on TV

44. In line 21, “Arnold Palmer may have been the first sports-marketing superstar, but he was definitely not the last.” What can be inferred from this?
a. He was the first and last sports-marketing superstar. 
b. There were more sports-marketing superstars after him.
c. He was the last sports-marketing superstar. 
d. There were more sports-marketing superstars before him.

Question 45. Short answer (5 points):
45.
What happened in the years after Arnold Palmer’s professional debut?

__________________________________________________________________________________
Read the passage and answer the questions.
 (
Hollywood’s golden age had its beginnings earlier in the century, when Henry Ford invented a new way of making cars. Ford’s car, the Model T, was produced very quickly and cheaply, and this influenced many 
aspects 
of American life. One of these aspects was the movie industry, and the result was a new way of making movies. During these years, movies were 
issued 
from the Hollywood studios like cars rolling off an 
assembly 
line. 
This new way of making movies came to be known as the “Hollywood studio system,” and it 
standardized
 
the way movies were produced. Movies had to be made quickly and cheaply because the major studios owned hundreds of theaters in cities and towns across the United States. These theaters showed the studio’s films, and they needed a constant stream of new releases. To achieve this, the studios employed thousands of people — actors, producers, directors, writers, stunt men, 
crafts 
persons, and technicians, and operated much like a factory. 
The result was a large number of films that were all quite similar. Nonetheless, many great movies 
emerged 
from this period of “assembly
-
line” film-making. That was because the studios were producing hundreds of movies a year. Not every movie had to be a 
big
 
hit
, so a studio could take a risk and make a movie with a good script and 
relatively 
unknown actors. 
Citizen 
Kane
,
 directed by Orson Welles and often regarded as the greatest film of all time, fits that 
description
. 
) 
















							  


(taken from The Golden Age of Hollywood)

Questions 46-49. Circle the correct answer (2.5 points each):
46. How were movies made quickly and cheaply?
a. Thousands of people were employed to work in conditions much like a factory.
b. Hundreds of major studios made the same movies. 
c. Studios took many risks to make a movie.
d. Studios streamed their movies all across the United States.

47. Which sentence about the “Hollywood studio system” is NOT true?
a. Movies had to be made quickly and cheaply.
b. Theaters needed a constant stream of old releases. 
c. It employed thousands of people. 
d. It operated much like a factory. 

48. In line 15, what does “big hit” mean? 
a. something very dramatic
b. something very expensive
c. something very popular
d. something very painful

49. What is true about assembly-line film-making? 
a. The movies produced were all quite similar. 
b. The movies were slow and expensive to make. 
c. Every movie was a big hit. 
d. Citizen Kane was an assembly line film that did not succeed. 

Question 50. Short answer (5 points):
50.
What was the influence of Henry Ford on the film industry?

__________________________________________________________________________________

__________________________________________________________________________________
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	Answer Key



Vocabulary:
Part A: Choose the word that best matches the definition (1 point each).
	1
	citizen
	2
	fauna
	3
	stock market
	4
	agricultural
	5
	transmit



B. Choose the word that best completes the sentence (1 point each).
	6
	b
	7
	b
	8
	a
	9
	c
	10
	a

	11
	d
	12
	b
	13
	a
	14
	a
	15
	c

	16
	b
	17
	d
	18
	c
	19
	b
	20
	a



C. Synonyms (=) and Antonyms (<-->)
	21
	skilled worker
	=
	technician
	22
	loyal
	<-->
	rebellious

	23
	notification
	=
	alert
	24
	professional
	<-->
	amateur

	25
	suitable
	=
	appropriate



Reading Comprehension & Skills:
Questions 26-29. Circle the correct answer (2.5 points each):
	26
	a
	27
	d
	28
	b
	29
	d



Question 30. Short answer (5 points):
(Answers may vary.)
-Maori people destroyed Haast’s eagle nests. 

Questions 31-34. Circle the correct answer (2.5 points each):
	31
	d
	32
	b
	33
	b
	34
	c



Question 35. Complete the chart (5 points):
(Answers may vary.)
	Truth or Consequences

	Why did most contestants choose to answer the questions wrongly?
	They chose to answer the questions incorrectly because the tasks were so fun. 

	What kind of prize did the contestants get?
	Usually the prize was something surprising, like being reunited with an old friend or family member. 




Questions 36-39. Circle the correct answer (2.5 points each):
	36
	b
	37
	d
	38
	a
	39
	c



Question 40. Complete the chart (5 points):

	Feeding the World

	What can vertical farming be thought of as?
	Vertical farming can be thought of as an “apartment” for food crops. 

	What does the Leloca app help restaurants do with the food that needs to be thrown out? 
	It allows restaurants to put food on sale for 30 to 50% off through the app.




Questions 41-44. Circle the correct answer (2.5 points each):
	41
	b
	42
	a
	43
	a
	44
	b



Question 45. Short answer (5 points):
(Answers may vary.)
-Arnold experienced a level of fame – and earned an amount of money – that far exceeded that of previous pro golfers.

Questions 46-49. Circle the correct answer (2.5 points each):
	46
	a
	47
	[bookmark: _GoBack]b
	48
	c
	49
	a



Question 50. Short answer (5 points):
(Answers may vary.)
-The “Hollywood studio system” was created. / Movies began to be issued like cars rolling off an assembly line. 


- Reading World Midterm and Final Test Grading Rubric -
Points available by test:
	Vocabulary
	25 points

	Reading Comprehension & Skills
	75 points

	Total
	100 points



Breakdown by question type:
	Vocabulary

	Question Type
	Number of Questions
	Point Value
	Total
Points Available

	Definition
	5
	1
	5

	Sentence Completion
	15
	1
	15

	Synonym and Antonym Matching
	5
	1
	5

	
	25



	Reading Comprehension and Skills

	Question Type
	Number of Questions
	Point Value
	Total
Points Available

	Multiple Choice
	20
	2.5
	50

	Graphic Organizer or Short Answer
	5
	5
	25

	
	75



